---------------------------------------

a4 & 39

HA1RG-L
Ll IC-D L

[R=NC 7 IEG

Mocel zode 82 30

Page design © 2004-2017 by ART Network Services, Inc.




PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPLdIL...

82V String Trimmer Bike Handle 82TB10 2100186 6952909025056 - 02 Housing

‘@

Page design © 2004-2017 by ART Network Services, Inc.

1 von 2 09.03.2022, 13:36



PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPLdIL...

Ref # Part # Description Qty Context Note
1 RA341032461D Housing assembly NEW (2018/12) 1 SET
Left housing 1
Right housing
Left decorative cover
Right decorative cover
Rear decorative piece
Screw M5*10
Tension disc
Screw ST4*16
Screw M4#10
2 RA362012461A PCB assembly
PCB
Inserting seat
Heat shrinkable tube
RA311112461 Release button
Release button
Spring
Shaft sleeve
Axle
RA341192461 Release button press plate
RA311122461 Battery package barrel
Battery pack
Screw ST4*10
Shrapnel
Fixed plate

—_— s e e e

WD

SET

15cm
SET

|5}

.

SET
SET

w
U NG YL TN Ty U N Yy O S A Y

2von2 09.03.2022, 13:36



PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPLAIL...

82V String Trimmer Bike Handle 82TB10 2100186 6952909025056 - 03 Handle

Page design © 2004-2017 by ARI Network Services, Inc.

1 von 2 09.03.2022, 13:36



PartSmart Web Katalog mit Elektronikteilen

2 von 2

Ref #
6

7
8

9

10
11
12
13

14

15
16

17 RA331012462A Cattle pyramidal assembly NEW (2018/12)

Part #
RA333032462

RA311082462
RA363022461A
RA341092462
RA363012461A
RA333072461
RA341082462
RA363011807C

RA341042462D

RA333012462
RA341212461

https://globegroup.partsmartweb.com/scripts/EmpartISAPLAIL...

Description
Starp clamp assembly NEW (2018/12)
Starp clamp
Bolt M6*18
Ox horn left housing
Ox horn right housing
Screw ST4*16
Film panel
Micro switch
Toggle button
Switch
Reset spring
Switch trigger
Speed switch assembly NEW (2018/12)
Speed switch
Switch sleeve
Horn handle assembly NEW (2018/12)
Screw M5%35
Screw ST4*16
Nut M5
U-buckle
Sub-handle (left)
Sub-handle (Right)
Horn handle (left)
Horn handle (Right)
Ox horn tube
Knob

Upper cover
Lower cover
Cattle pyramidal
Ox horn decorative cover
Nut M6
Spring
Screw ST4*16

Qty Context Note

1

1
4
1
1
4
1
1
1
1
1
1
1
1
1
1
2
5
2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

SET

SET
SET
SET
SET
SET
SET
SET
SET

SET

SET
SET
SET

09.03.2022, 13:36



PartSmart Web Katalog mit Elektronikteilen about:blank

82V String Trimmer Bike Handle 82TB10 2100186 6952909025056 - 04 Head & Rod

Page design © 2004-2017 by ARI Network Services, Inc.

1 von 3 09.03.2022, 13:37



PartSmart Web Katalog mit Elektronikteilen

2von 3

Ref # Part #
18 RA311042461

Description
Guard assembly
Bolt M6%22
Bolt M5*15
Screw
L-Spanner
Blade
Connect piece
Guard
Tool bar
Rod assembly
Rod
Motor clip tube

19 RA311142461

Sponge washer ?
Sponge washer
Hoop
Blot M5#8
Screw ST4*16
Screw M4#10
Screw M4#]2

20 RA361002461A Motor assembly NEW 2021-04-17

Blade nut
Blot M5*15
Screw M4*12
Screw ST4#16-F
Bolt M6*18
Spring washer 6
Shaft sleeve
Fan
Housing
Housing cover
Clamp
Rubber washer
Thrinkable tube f5
O-ring
Motor
Wire
Male terminal
Female terminal
Thrinkable tube 10
Blade assembly
Blade bolt
Nut
Blade
Clamp
Blade plate

21 RA311072461

Allen wrench

21.1 ACCESSORY Blade assembly 255mm

22 RA311121410D

Trimmer head assembly

Qty Context Note
SET

SET

SET

10cm

13cm
SET

SET

1
1
|
1
1
1
1
1
1
1
1
1
1
|
|
1
1
3
|
|
1
|
4
2
1
1
1
1
1
1
1
4
1
1
|
1
3
3
|
1
1
|
|
1
1
1
|
1 SET

about:blank

09.03.2022, 13:37



PartSmart Web Katalog mit Elektronikteilen

Ref # Part # Description

22.1 2902686 ACCESSORY Trimmer head
23 RA333022341A Allen wrench
25  RO100128-00 Unidirectional blade

3von3

Qty Context Note

1
1
1

SET
SET
SET

about:blank

09.03.2022, 13:37



PartSmart Web Katalog mit Elektronikteilen about:blank

82V String Trimmer Bike Handle 82TB10 2100186 6952909025056 - 05 82V harness assembly

Page design © 2004-2017 by ARI Network Services, Inc.

1 von 2 09.03.2022, 13:37



PartSmart Web Katalog mit Elektronikteilen about:blank

Ref # Part # Description Qty Context Note
24 RA211013032 82V harness assembly 1 set
25 RA333063032 Hook Assembly 1 set

2von2 09.03.2022, 13:37



